Shapo™/IICUP2015 (E460m)IIHDLEFY v D—RERS6FEDED
R ~— XAV (BT0vD 1] 18118 () ~BERBSAR-—YEYH—~

RS DOSBTPU—T

JwFSC (pRZE) VS  EhHIIJFCA (FEBiszEh)

S B—HA o Fi&
FE 45 LWFC R pE@—Aa) 3 :;’Eiggitﬁ 9&%505;: %%
V) 5 1 FHEE 1285209  HERRE
BHRHAE EARE 130109 HERE
)IIBAYFC 0
RN =
— st 5 B %
=1 2 R
SR mhJIIJFCA
i IIKIFC : ,
=g #EH  TYFSC
& IIJFCA - E3E FCRE
) FAEE > E3HL  TALT—L
THILT—L —
EmRE
EXIESC - °

2 =AY (70w 2fi] 18118 () ~PEDIAR—YNLE~

/i_/ﬁso 0 %_%Kg gﬂ:;f %;E
s ) 0 EoHA  OM50n  FE
£g—HE EZHE  10K405  FE
= PK(5-4) PK((4-2) FEMRE 1183057 F&
FC/\#& o ) 0 EREE 120205 ERE
EEne) EAREE  13F109 R
7 1IUFCB 0 EEHE  14K30%  BEIEREHR
PK(4-2)
£oHa =
. e - HEE
FCW > “
B R, EFf&FC
RI{TEFCA 1 1
E=HE
ER&FC -
EARHE
b BRKI 2 °
FmRE
FCFH 5 0




Shapo™/IICUP (460D EY v D—MERSCFOEFE —THBR) [(1898108]

AJOvOHREx DEDLWFC FHZARKRITESC
sEssi] FLYT YA | fefamASSC [FES \LWFC i7{ESC hIUFCB | B | Ba | ki | = | IBA
A X

@)
il
7LYUA|  ShapoA 0 | 0 ] ” 3 T 1 2 5 | 0 4 8 5 3 4

— " ShapoA ’”‘ ﬁ (”) 5 0 2| 2] o] 3

B7OwvOREK mMIIBAYFC %:ﬁ?@ﬁﬁﬁ IIJFCB

P, 0’"‘1 KB 0’”<2 o?o 1ﬁ1 2 | 1| 4| 3| 4
i ? 0 | 2 ? 0 ¥aRB 2 (||) 0 | 1 c||) oo I I B I
H8FO— ’"‘2 0?0 0’”‘2 KB o?o 2 0 1| 4| 3| 4
IMFo— s T o T 1 5 ? 5 KRB 5 2 2 0 3

COOvIORERMDIIKIFC FEEZAKEXRMITEFCA
feis N I ERISC WEEFCA X#SC [hIFRLK] HIIKIFC [Bs [ S5 %58 £ |IEA
X

P RLK

miJIIKIFC

4 | o | 1 ] o 1] oo 3 | o

DJOvIOREKR TAIUVY—LU FTHRERWHAFvVH—Z
N EEFCA [74)IL<T—L l@ﬁKl faFHSsc IBESC [ Ba | Ba | %ka| = | B
X

_ O O
Forl  ShapoD 0] 5 | o || 4 | 2 || 0 | 2 | 1

B I © ShapoD 10| 11 ] 0o | 11 1
LIL—QI_QI_AKLiiiii




Shapo™/IICUP (460D EY v D—MERSCFOEFE —THBR) [(1898108]

EJOvOREK JwFSC

{EEFCB F{T{EFCB

B _HKRFC/\IE

E4SC

=&/ FC/\IE

O A _
i 3 T3 o ShapoE T3 4 7 15 8 3
2N x O x A _
B 40— 5 T o T T3 ShapoE 4 4 22 18] 4
FOOvOREX FCRES FAXRPUWFCW
gaan] JE;ESSS fh1LFCW FCRE B&A&SC fexfFC | Ba|8alLal = | Bk
A X X O

fem=l__ O T A | o - [_O [ O T 4]
FCH =
PR @) X X A
s X A X A
2HFC -
Bx T T 2 T T 1 0 | 4 T T 1 ShapoF 2 3 8 5 5

G770y oK mEhlIIJFCA

E_AXREFEFC

EFEFC HiEFC = =FC XFHESC [F™IIJFCA] Bim
=FC -
== R T 1 0 ShapoG 3 | 1 E 6 4 7 3 3
X X X X
PN -
Esc 0 | 13 0 | 8 T T 3 ShapoG 0 | o 0 1 33 32 5
. O O O O
At IIJFCA 5 | 0 3 1 0 3 1 0 5 | 0 ShapoG 12 12 0 12 1
HOOvOREX EXESC FE_HXRFCEH
=zxN] FCIH E4%rSC E%E&ESC | 7LJUB e | 8R | Xxa | = | B4
X X A
Vi SC —
=5 0 | 2 ShapoH 0 | 4 0 ] o 1 0 6 6 3
, (@) O O
EEER
SC 3 | 2 2 | 0 ShapoH 5 | 0 9 12 2 10 1
X A X
1 -
FLJ)B 0 | 4 0 T 0 0 | 5 ShapoH 1 0 9 9 4




